

Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$27,255,358.76	\$26,766,677.49
Contributions	\$0.00	\$5,962.83
Withdrawals	(\$220,048.39)	(\$1,100,048.39)
Transfers In/Out	\$0.00	\$0.00
Income	\$20,394.43	\$73,951.56
Administrative Expense	(\$372.63)	(\$2,187.03)
Investment Expense	(\$596.07)	(\$5,841.85)
Investment Manager Fees	(\$30.95)	(\$991.92)
IFA Loan Repayment	\$0.00	(\$20,689.85)
Adjustment	\$18,585.11	\$18,585.11
Realized Gain/Loss	\$60.81	\$8,963.86
Unrealized Gain/Loss	(\$381,816.52)	\$947,152.74
Ending Balance	\$26,691,534.55	\$26,691,534.55

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.84%	N/A	N/A	N/A	N/A	3.31%	09/01/2022

HINSDALE POLICE PENSION FUND Fund Name: HINSDALE POLICE PENSION Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$0.00	\$0.00
Contributions	\$0.00	(\$9,037.17)
Withdrawals	(\$48.39)	(\$48.39)
Transfers In/Out	\$48.39	\$9,015.82
Income	\$0.00	\$69.74
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	\$0.00	\$0.00
Unrealized Gain/Loss	\$0.00	\$0.00
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	0.000	6.400
Unit Purchases from Additions	4.450	4.450
Unit Sales from Withdrawals	(4.450)	(10.850)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit Period Ending Net Asset Value per Unit	\$0.000000	\$208.596391 \$0.000000

Performance Summary:

HINSDALE POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	09/01/2022



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$84.69	\$4,463.27
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$83.25)	(\$4,647.23)
Income	\$0.32	\$5.79
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$1.70)	\$143.60
Unrealized Gain/Loss	(\$0.06)	\$34.57
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	9.333	511.162
Unit Purchases from Additions	5.425	1,025.480
Unit Sales from Withdrawals	(14.758)	(1,536.642)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit Period Ending Net Asset Value per Unit	\$9.073836 \$0.000000	\$8.731284 \$0.000000

Performance Summary:

HINSDALE POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	09/13/2022



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$27,255,274.07	\$26,762,214.22
Contributions	\$0.00	\$15,000.00
Withdrawals	(\$220,000.00)	(\$1,100,000.00)
Transfers In/Out	\$34.86	(\$4,368.59)
Income	\$20,394.11	\$73,876.03
Administrative Expense	(\$372.63)	(\$2,187.03)
Investment Expense	(\$596.07)	(\$5,841.85)
Investment Manager Fees	(\$30.95)	(\$991.92)
IFA Loan Repayment	\$0.00	(\$20,689.85)
Adjustment	\$18,585.11	\$18,585.11
Realized Gain/Loss	\$62.51	\$8,820.26
Unrealized Gain/Loss	(\$381,816.46)	\$947,118.17
Ending Balance	\$26,691,534.55	\$26,691,534.55

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	2,733,707.413	2,821,867.170
Unit Purchases from Additions	1,872.566	3,915.218
Unit Sales from Withdrawals	(22,165.458)	(112,367.868)
Ending Units	2,713,414.520	2,713,414.520
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

HINSDALE POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	7.57%	09/22/2022

Statement of Transaction Detail for the Month Ending 05/31/2023

HINSDALE POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
HINSDALE POLICE F	PENSION				
05/25/2023	05/26/2023	Transfers In	48.39	10.875000	4.4497
05/25/2023	05/26/2023	Redemptions	(48.39)	10.875000	(4.4497)
Transition Pool					
05/25/2023	05/26/2023	Transfers In	48.39	8.919671	5.4251
05/25/2023	05/26/2023	Transfers Out	(48.39)	8.919671	(5.4251)
05/25/2023	05/26/2023	Transfers Out	(83.25)	8.919671	(9.3330)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	18,585.11	9.970077	1,864.0889
05/12/2023	05/15/2023	Redemptions	(220,000.00)	9.927560	(22,160.5309)
05/25/2023	05/26/2023	Transfers In	83.25	9.820810	8.4769
05/25/2023	05/26/2023	Transfers Out	(48.39)	9.820810	(4.9273)